
It would take 6 
quarters.

2 quarters 
= 1 half

The snake

3
4 or any value near it



Possible answers:
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3

Possible answer:

Each model is a different whole, so 
¾ of each whole will be different.

Answers will vary depending 
on what students determine 

for themselves.



they are the same as 
one another.

one piece is a lot 
more than the other.

Possible answer:
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Possible answer:

An odd amount of parts (fractions with an 
odd denominator) can’t be split in half. 

9
12

Possible answer:




